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Jpdates

* Updates the correlation fitting with new strategy.
* Combine the e™, p and % sample and do the fit.
* Rotate point and angle are decided by this combined fit.
* Check the rotate points along with the inject kinetic energy.

* Checks the correlation with different sizes of BGO.

* Same xy size + different z size (xyz)
o 221,222,224

* Different xy size + same z size (xyz)
e 111, 221, 441

* Prototype-like size: 17cm * 17cm * 60cm



The correlation vs particle types

(* From the previous slides, ) * Does proton follow a different shape
the fixing point (kinetic of correlation?
energy + particle mass) .
doesn’'t work for protons 2 T
- 45000{—
%0000__ :. e 400002—
EL8000:— mq’ ))) ssooof—
6000 e . saE’ 30000:— et
I _ep R - Pion+
4000:_ Inject 10.93827 GeV proton: dE/dx = 3.0 25000:_ Proton
2000:— Borser = 12.16889 GeV 20000 4 5eo 5666000 5000 10000 12000 14006 16000
total hE 3
Of a5 50 2 S0 S A 45k

\_ J @



Fit with new strategy

« Combine et, ™, p sample, fix t
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* There is a roughly linear correlation
bet the inject (kinetic) d

the rotate point (x0)

* Need to be conf_irmed with results from
more energy points

* Could be used to determine the rotate
point (x0) for different energies
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Rotated

* After updating the fit strategy, both the energy resolution and bias are
corrected for both proton and pion
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Different size?

e Same xy size, different z size
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Different size?

* Different xy, same z
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* There Is a potentia
between Egep, and Ej,, is getting larger.
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trend, with the smaller size in xy, the correlation
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Prototype-like size

* The spread of the correlation i1s quite large,
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